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Q1

Ans

Comprehension:

Refer to the below passage and answer the questions.
The little old house was out with a little new shed

In front at the edge of the road where the traffic sped,
A roadside stand that too pathetically pled,

It would not be fair to say for a dole of bread,

But for some of the money, the cash, whose flow supports
The flower of cities from sinking and withering faint.
The polished traffic passed with a mind ahead,

Or if ever aside a moment, then out of sorts

At having the landscape marred with the artless paint
Of signs that with N turned wrong and S turned wrong
Offered for sale wild berries in wooden quarts,

Or crook-necked golden squash with silver warts,

Or beauty rest in a beautiful mountain scene,

You have the money, but if you want to be mean,
Why keep your money (this crossly) and go along.
The hurt to the scenery wouldn’t be my complaint

So much as the trusting sorrow of what is unsaid:
Here far from the city we make our roadside stand
And ask for some city money to feel in hand

To try if it will not make our being expand,

And give us the life of the moving-pictures’ promise
That the party in power is said to be keeping from us.

It is in the news that all these pitiful kin

Are to be bought out and mercifully gathered in

To live in villages, next to the theatre and the store,
Where they won’t have to think for themselves anymore,
While greedy good-doers, beneficent beasts of prey,
Swarm over their lives enforcing benefits

That are calculated to soothe them out of their wits,

And by teaching them how to sleep they sleep all day,
Destroy their sleeping at night the ancient way.

Sometimes | feel myself | can hardly bear

The thought of so much childish longing in vain,

The sadness that lurks near the open window there,
That waits all day in almost open prayer

For the squeal of brakes, the sound of a stopping car,
Of all the thousand selfish cars that pass,

Just one to inquire what a farmer’s prices are.

And one did stop, but only to plow up grass

In using the yard to back and turn around;

And another to ask the way to where it was bound;

And another to ask could they sell it a gallon of gas
They couldn’t (this crossly); they had none, didn’t it see?

No, in country money, the country scale of gain,
the requisite lift of spirit has never been found,

Or so the voice of the country seems to complain,
| can’t help owning the great relief it would be

To put these people at one stroke out of their pain.
And then next day as | come back into the sane,

I wonder how | should like you to come to me

And offer to put me gently out of my pain.

SubQuestion No : 1

Select the most appropriate SYNONYM of the given word below.
Swarm

< 1. Loner
< 2. Need
5 3. Individual

o 4. Flock

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448295
6306801750383
6306801750380
6306801750381
6306801750382
Answered

2




Comprehension:

Refer to the below passage and answer the questions.
The little old house was out with a little new shed

In front at the edge of the road where the traffic sped,
A roadside stand that too pathetically pled,

It would not be fair to say for a dole of bread,

But for some of the money, the cash, whose flow supports
The flower of cities from sinking and withering faint.
The polished traffic passed with a mind ahead,

Or if ever aside a moment, then out of sorts

At having the landscape marred with the artless paint
Of signs that with N turned wrong and S turned wrong
Offered for sale wild berries in wooden quarts,

Or crook-necked golden squash with silver warts,

Or beauty rest in a beautiful mountain scene,

You have the money, but if you want to be mean,
Why keep your money (this crossly) and go along.
The hurt to the scenery wouldn’t be my complaint

So much as the trusting sorrow of what is unsaid:
Here far from the city we make our roadside stand
And ask for some city money to feel in hand

To try if it will not make our being expand,

And give us the life of the moving-pictures’ promise
That the party in power is said to be keeping from us.

It is in the news that all these pitiful kin

Are to be bought out and mercifully gathered in

To live in villages, next to the theatre and the store,
Where they won’t have to think for themselves anymore,
While greedy good-doers, beneficent beasts of prey,
Swarm over their lives enforcing benefits

That are calculated to soothe them out of their wits,

And by teaching them how to sleep they sleep all day,
Destroy their sleeping at night the ancient way.

Sometimes | feel myself | can hardly bear

The thought of so much childish longing in vain,

The sadness that lurks near the open window there,
That waits all day in almost open prayer

For the squeal of brakes, the sound of a stopping car,
Of all the thousand selfish cars that pass,

Just one to inquire what a farmer’s prices are.

And one did stop, but only to plow up grass

In using the yard to back and turn around;

And another to ask the way to where it was bound;

And another to ask could they sell it a gallon of gas
They couldn’t (this crossly); they had none, didn’t it see?

No, in country money, the country scale of gain,
the requisite lift of spirit has never been found,

Or so the voice of the country seems to complain,
| can’t help owning the great relief it would be

To put these people at one stroke out of their pain.
And then next day as | come back into the sane,

I wonder how | should like you to come to me

And offer to put me gently out of my pain.

SubQuestion No : 2

Q.2 Select the most appropriate meaning of the given word below.
Withering

Ans X 1.To give a spoken statement of an opinion or thought
75 2. The particular state that something or someone is in
” 3. One that is intended to make someone feel ashamed

& 4. The act of thinking about or considering something, an idea or opinion, or a set of
ideas about a particular subject

Question ID : 630680448296
Option 1 ID : 6306801750384
Option 2 ID : 6306801750387
Option 3 ID : 6306801750385
Option 4 ID : 6306801750386
Status : Answered
Chosen Option : 4




Q.3
Ans

Comprehension:

Refer to the below passage and answer the questions.
The little old house was out with a little new shed

In front at the edge of the road where the traffic sped,
A roadside stand that too pathetically pled,

It would not be fair to say for a dole of bread,

But for some of the money, the cash, whose flow supports
The flower of cities from sinking and withering faint.
The polished traffic passed with a mind ahead,

Or if ever aside a moment, then out of sorts

At having the landscape marred with the artless paint
Of signs that with N turned wrong and S turned wrong
Offered for sale wild berries in wooden quarts,

Or crook-necked golden squash with silver warts,

Or beauty rest in a beautiful mountain scene,

You have the money, but if you want to be mean,
Why keep your money (this crossly) and go along.
The hurt to the scenery wouldn’t be my complaint

So much as the trusting sorrow of what is unsaid:
Here far from the city we make our roadside stand
And ask for some city money to feel in hand

To try if it will not make our being expand,

And give us the life of the moving-pictures’ promise
That the party in power is said to be keeping from us.

It is in the news that all these pitiful kin

Are to be bought out and mercifully gathered in

To live in villages, next to the theatre and the store,
Where they won’t have to think for themselves anymore,
While greedy good-doers, beneficent beasts of prey,
Swarm over their lives enforcing benefits

That are calculated to soothe them out of their wits,

And by teaching them how to sleep they sleep all day,
Destroy their sleeping at night the ancient way.

Sometimes | feel myself | can hardly bear

The thought of so much childish longing in vain,

The sadness that lurks near the open window there,
That waits all day in almost open prayer

For the squeal of brakes, the sound of a stopping car,
Of all the thousand selfish cars that pass,

Just one to inquire what a farmer’s prices are.

And one did stop, but only to plow up grass

In using the yard to back and turn around;

And another to ask the way to where it was bound;

And another to ask could they sell it a gallon of gas
They couldn’t (this crossly); they had none, didn’tit see?

No, in country money, the country scale of gain,
the requisite lift of spirit has never been found,

Or so the voice of the country seems to complain,
| can’t help owning the great relief it would be

To put these people at one stroke out of their pain.
And then next day as | come back into the sane,

I wonder how | should like you to come to me

And offer to put me gently out of my pain.

SubQuestion No : 3
Identify the suitable title for the poem.
5 1. A beautiful mountain scene

/< 2. The old village and memories
«” 3. ARoadside Stand

< 4. The little old house

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680448293
6306801750373
6306801750374
6306801750375
6306801750372
Answered

2




Q.4
Ans

Comprehension:

Refer to the below passage and answer the questions.
The little old house was out with a little new shed

In front at the edge of the road where the traffic sped,
A roadside stand that too pathetically pled,

It would not be fair to say for a dole of bread,

But for some of the money, the cash, whose flow supports
The flower of cities from sinking and withering faint.
The polished traffic passed with a mind ahead,

Or if ever aside a moment, then out of sorts

At having the landscape marred with the artless paint
Of signs that with N turned wrong and S turned wrong
Offered for sale wild berries in wooden quarts,

Or crook-necked golden squash with silver warts,

Or beauty rest in a beautiful mountain scene,

You have the money, but if you want to be mean,
Why keep your money (this crossly) and go along.
The hurt to the scenery wouldn’t be my complaint

So much as the trusting sorrow of what is unsaid:
Here far from the city we make our roadside stand
And ask for some city money to feel in hand

To try if it will not make our being expand,

And give us the life of the moving-pictures’ promise
That the party in power is said to be keeping from us.

It is in the news that all these pitiful kin

Are to be bought out and mercifully gathered in

To live in villages, next to the theatre and the store,
Where they won’t have to think for themselves anymore,
While greedy good-doers, beneficent beasts of prey,
Swarm over their lives enforcing benefits

That are calculated to soothe them out of their wits,

And by teaching them how to sleep they sleep all day,
Destroy their sleeping at night the ancient way.

Sometimes | feel myself | can hardly bear

The thought of so much childish longing in vain,

The sadness that lurks near the open window there,
That waits all day in almost open prayer

For the squeal of brakes, the sound of a stopping car,
Of all the thousand selfish cars that pass,

Just one to inquire what a farmer’s prices are.

And one did stop, but only to plow up grass

In using the yard to back and turn around;

And another to ask the way to where it was bound;

And another to ask could they sell it a gallon of gas
They couldn’t (this crossly); they had none, didn’tit see?

No, in country money, the country scale of gain,
the requisite lift of spirit has never been found,

Or so the voice of the country seems to complain,
| can’t help owning the great relief it would be

To put these people at one stroke out of their pain.
And then next day as | come back into the sane,

I wonder how | should like you to come to me

And offer to put me gently out of my pain.

SubQuestion No : 4
Identify the central theme of the poem.

5 1. The city people have a very empathetic approach towards the rural people, and they

are always willing to help them.

«” 2. The narrator observes that the city folks who drove through the countryside hardly
paid any heed to the roadside stand or to the people who ran it. If at all they did, it was to

complain.

#< 3. The government and other social service agencies helped the poor rural people and

were always available to assist the rural people.

#5 4. The roadside people do not want the onlooker to buy consumable items from them.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448294
6306801750379
6306801750378
6306801750376
6306801750377
Answered

2




Q.5

Read the below passage:

Most states do not have enough well-trained experts to retrieve or perform transplant
procedures. Also, there is an acute shortage of advanced healthcare facilities to carry
out a transplant. So, it is referred to other big centres in metropolitan cities. Organs
retrieved from Aurangabad, Indore, Surat, and Pune are sent to Mumbai as these cities
do not have super-specialty healthcare centres, informed officials.

Which of the following is the CORRECT logical inference based on the information in
the above passage?

1) Most people do not go for organ transplants because it is very risky and expensive.
1) All metropolitan cities are well equipped and ready to handle critical transplant
cases.

1) Most states refer organ transplant cases to big hospitals because they don’t have
well trained experts

Ans X 1.llonly
& 2. lonly
o 3. 11 & lll only
&K 411, &l only
Question ID : 630680448298
Option 1 ID : 6306801750394
Option 2 ID : 6306801750393
Option 3 ID : 6306801750395
Option 4 ID : 6306801750392
Status : Answered
Chosen Option : 4
Q.6 Read the below passage:
The art of living is learnt easily by those who are positive and optimistic. From humble
and simple people to great leaders in history, science, or literature, we can learn a lot
about the art of living by having a peep into their lives. The daily routines of these
great men not only reveal their different, maybe unique life styles, but also help us
learn certain habits and practices they followed.
Which of the following is the CORRECT logical inference based on the information in
the above passage?
1) The unique life styles of great men are revealed by their daily routines and practices
that they follow.
Il) For positive and optimistic people the art of living is learnt quite easily.
11l) All great men followed good practices and their daily routines also helped them in
shaping their lives.
Ans X 1.11 &l only
o 2.1, 11, &Il only
& 3.1l only
X 4.1&1l only
Question ID : 630680448297
Option 1 ID : 6306801750389
Option 2 ID : 6306801750390
Option 3 ID : 6306801750391
Option 4 ID : 6306801750388
Status : Answered
Chosen Option : 1




Q.7
Ans

Comprehension:

Refer to the below passage and answer the questions.

The young generation is a diverse group of individuals who are below 21 years of age, which
is the official age of adulthood. They include preschoolers, students between primary and
secondary schooling age, and young people working part- or full-time. It is essential to
acknowledge that the young come from various cultures and nations, each with unique values
and behaviors.

Various factors influence a young person's lifestyle, including parents, government, faith, and
the media. While television and films are among the sources of influence from the media, it is
crucial to recognize that they are not the only ones. The educational institutions that a young
person attends, the family that they come from, and the nation that they live in also shape
their beliefs, thoughts, and actions. For many young people worldwide, their lives are
characterized by poverty, with many working part-time to supplement their family incomes.
For those who can afford to attend school, their educational workloads consume most of their
time, leaving them with limited time for leisure.

Today's young spend more time with their peers, and studies have shown that they are the
main influence on them, particularly with the trend towards smaller families and busier
working parents. Parents, siblings, or teachers may also play a pivotal role in younger
children's lives. For those who can afford it, music, handphones, and computers are
increasingly engaging their attention.

SubQuestion No : 7

Identify the suitable title for the passage.

«” 1. The Diverse Influences on the Young Generation
& 2. Primary and secondary schooling
< 3. Generation gap and Families

& 4. Educational institutions and their influence on young generation

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680448288
6306801750356
6306801750357
6306801750359
6306801750358
Answered

1




Q.8
Ans

Comprehension:

Refer to the below passage and answer the questions.

The young generation is a diverse group of individuals who are below 21 years of age, which
is the official age of adulthood. They include preschoolers, students between primary and
secondary schooling age, and young people working part- or full-time. It is essential to
acknowledge that the young come from various cultures and nations, each with unique values
and behaviors.

Various factors influence a young person's lifestyle, including parents, government, faith, and
the media. While television and films are among the sources of influence from the media, it is
crucial to recognize that they are not the only ones. The educational institutions that a young
person attends, the family that they come from, and the nation that they live in also shape
their beliefs, thoughts, and actions. For many young people worldwide, their lives are
characterized by poverty, with many working part-time to supplement their family incomes.
For those who can afford to attend school, their educational workloads consume most of their
time, leaving them with limited time for leisure.

Today's young spend more time with their peers, and studies have shown that they are the
main influence on them, particularly with the trend towards smaller families and busier
working parents. Parents, siblings, or teachers may also play a pivotal role in younger
children's lives. For those who can afford it, music, handphones, and computers are
increasingly engaging their attention.

SubQuestion No : 8

Identify the central theme of the passage.

/< 1. There is very limited resource and leisure time for youth which contributes to their
boredom a lot.

/5 2. The educational institutions that a young person attends, the family that they come
from, and the nation that they live in does not contribute much to shape their beliefs,
thoughts, and actions.

/5 3. Parents, siblings, and teachers only play a pivotal role in younger children's lives.
None of the other things matter when it comes to today’s youth’s belief system.

" 4. The young generation is a diverse group of individuals which is easily influenced by a
lot of factors which includes their peers, parents, the educational institutions &tc:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680448289
6306801750363
6306801750360
6306801750361
6306801750362
Answered

4




Comprehension:

Refer to the below passage and answer the questions.

The young generation is a diverse group of individuals who are below 21 years of age, which
is the official age of adulthood. They include preschoolers, students between primary and
secondary schooling age, and young people working part- or full-time. It is essential to
acknowledge that the young come from various cultures and nations, each with unique values
and behaviors.

Various factors influence a young person's lifestyle, including parents, government, faith, and
the media. While television and films are among the sources of influence from the media, it is
crucial to recognize that they are not the only ones. The educational institutions that a young
person attends, the family that they come from, and the nation that they live in also shape
their beliefs, thoughts, and actions. For many young people worldwide, their lives are
characterized by poverty, with many working part-time to supplement their family incomes.
For those who can afford to attend school, their educational workloads consume most of their
time, leaving them with limited time for leisure.

Today's young spend more time with their peers, and studies have shown that they are the
main influence on them, particularly with the trend towards smaller families and busier
working parents. Parents, siblings, or teachers may also play a pivotal role in younger
children's lives. For those who can afford it, music, handphones, and computers are
increasingly engaging their attention.

SubQuestion No : 9

Q.9 Select the most appropriate SYNONYM of the given word below.
Pivotal

Ans 1. Critical
5 2. Minor
< 3. Insignificant
X 4. Slight

Question ID : 630680448290
Option 1 ID : 6306801750367
Option 2 ID : 6306801750364
Option 3 ID : 6306801750365
Option 4 ID : 6306801750366
Status : Answered
Chosen Option : 1




Q.10

Ans

Comprehension:

Refer to the below passage and answer the questions.

The young generation is a diverse group of individuals who are below 21 years of age, which
is the official age of adulthood. They include preschoolers, students between primary and
secondary schooling age, and young people working part- or full-time. It is essential to
acknowledge that the young come from various cultures and nations, each with unique values
and behaviors.

Various factors influence a young person's lifestyle, including parents, government, faith, and
the media. While television and films are among the sources of influence from the media, it is
crucial to recognize that they are not the only ones. The educational institutions that a young
person attends, the family that they come from, and the nation that they live in also shape
their beliefs, thoughts, and actions. For many young people worldwide, their lives are
characterized by poverty, with many working part-time to supplement their family incomes.
For those who can afford to attend school, their educational workloads consume most of their
time, leaving them with limited time for leisure.

Today's young spend more time with their peers, and studies have shown that they are the
main influence on them, particularly with the trend towards smaller families and busier
working parents. Parents, siblings, or teachers may also play a pivotal role in younger
children's lives. For those who can afford it, music, handphones, and computers are
increasingly engaging their attention.

SubQuestion No : 10

Select the most appropriate meaning of the given word below.
Leisure

#< 1. a thing that you can see or touch but that is not usually a living animal, plant, or
person

«” 2. the time when you are not working or doing other duties
/< 3. to find information, a place, or an object, especially for the first time

& 4. aplace, especially including buildings, where a particular activity happens

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680448291
6306801750371
6306801750368
6306801750370
6306801750369
Not Answered

Section : Part 1 General Odia

Q.1
Ans

Comprehension:

‘AR R TRIY 1S

FRIR IR QIR SRS |

“QER AR TRIY TR

R IR QIRIG SRl |

QERA T GIQ ARRIQ

QLR PR 69NN Q&I |

qRIeS QIR FIe QRIL

GOl S99 65IQ SIS 17 ( QUAISI2l)

SubQuestion No : 1
UK 5190 Faqeldesiue S196 9617

X 1. oGe
X 2. @qlan
X 3. qdat
o 4. &e

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

630680448308
6306801750426
6306801750427
6306801750425
6306801750424
Answered

4




Q.2

Ans

Comprehension:

“QAER R SRIF Q1Eel

AR FIRGT QIRIAG SRS |

“QER CRI SRIF Q1ER

AR FIRGT SIRIAG SRAI |

QLR BT GIQ ARFIR

QA0R PR6E 65IRIA QIS |

9I6S QIR FITY QRILN

Qola 59191 6519 SIRQIE 17 ( QUlIFIel)

SubQuestion No : 2

QYD F199I8 Faudle gRél a9-
fa | [y A [ KT 15 [Ty - I ——

o 1. 99199
X 2,289

X 3. 1989
X 4.3999

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448306
6306801750416
6306801750417
6306801750419
6306801750418
Answered

1

Q.3
Ans

Comprehension:

‘QER SFRI GRIT Q1A

AR FIRGT SIRIG SRS |

“QER CRI SRIC Q1ES

IR FIRGT QIRIAG SRS |

A9RA G2 919 AR°QIR

QA9R Q6L 64IRIR AED |

JQI6S QIR AT QRILN

Gola 89191 6519 SIQQIE I” ( QUdlIgIel)

SubQuestion No : 3

F69ID 699 6196 ‘A’ FI9g §IN?
X 1. agiugl
X 2.6290
o 3. 699917

X 4. qien

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448307
6306801750422
6306801750420
6306801750421
6306801750423
Answered

3




Q.4
Ans

Comprehension:

“QER R SRIF Q1Eel

AR FIRGT SIRIAG SRS |

“QER CRI SRIF Q1ER

AR FIRGT SIRIAG SRAI |

QLR BT GIQ ARFIR

QDR PR6E 65IRIA QIS |

9I6S QIR FITY QRILN

Qola 59191 6519 SIRQIE 17 ( QUlIFIel)

SubQuestion No : 4
QUEAUD FTCI°FI6R ‘QIRIFG S9N 212l 9612
X 1. QImsIgP

o 2. GIRGR

X 3.917 949
X 4. Q1RAs

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448305
6306801750413
6306801750414
6306801750412
6306801750415
Answered

3




Q.5
Ans

Comprehension:

ArgIRe SRIFY FI6R FgEYR 76T JRIFE 6291 28 g6 | 2687 AAA6R AIFIFE T
£l gE99S 999 621R2I | gIFIFER 2UF 62468 FLIN USRS AATER T T2 62RYR,
g 2IG9IR 6909 F8IR geRe FIe | A9EYS 6SISIN °GE6 298 2SI6R, 69 ITGER 2R
6929 F9E UM G | 69GFIRRR FAIRES J98 TTI ABIR6R 219, 692¢lI6R 6516
QIRE9EI68 IR 2SR ZRAS 626R I T67 YATY 2T 2HBR ANV 6991 AR 62ANRG
6615 @ Fl6Ng6R 9694 A1 | g6SYS F2g F6R TIRQIRS IGETE FU6R RRIGLIER
AQ9R 2LZIg AYY QY 613 g6Lis fRTIER B BFIT GIR 6T FRIE G6G, 69269 FRRR 62T
909 867 | 768 A8l 80 © AIR ZRIGIPE 689R I8 UIRINIES AFIZIA ZIF6R F19eg FSIR
Qa8 | AgIIan 669 Gadle 9268 2N | RFIS6R 6366 AgATE 6 F12¢ AIdY ATE 62IRR,
692/69 S299 RIS 2R | 529 Bag RIS 7167 40eI 956 g6T | 22 Ge) AAsIa ggIeg Gl
Q5 69 94 FRFQINIR A6AI ARG, GILIEL6R FIS6R B AN AAYS FIF N6L AL |
699168 9Q1 916 D18 A6 FIRTAIS G, 62719@9 T2l €1 °GEG Q6% | 68U
9299 9@ 69y Bie A@Ql eraal | AFIeY ad FYa 986 TR 90 @64l F8Y ABIIER
2RYFID 6LIRANER | FEURINR FRAR TAURIY T | FERUANASI 21 APLARS TR
AFGHNE 621 IR FRG 2RI FIR | SIR MY 65IS1Y ASRARG 2D SN | ASREF K2R
A9EYR 66 927 g9 fIE 6 AAYR FA6! £l Q6T AIE | FEQ ARSI 6 9F gl agay
SRR G126 F69 | 6997 6915 FIgIRFI RIL6R AT 6RIGE L°HUl L°CIRER 26eR
694l | 626l8g 999 F29 69IR FRITIA & A6 | 69168 IE @9 gellg 2gaad 88
QYIS F24 SALIRAES; TG 62266, F698E g8 MY 6291 5 | AI9eIA ¢l 98 Faa
A 2B 2FHR 6291 AIR 26T Skl QIE | dea 2gUIEe 621R FReg RRDSI IRl AgEYER
2eelanl d6s' | 6306 JI6HZ6R 6IRIRIAGS 2I6T4 AT 98 QISR AIRT A61 | 6293 aQ4
Sl QRIS FEIQY, A FEIRY AIRT 6967 ASRAFD 63 Gl AT YTR A6 6 62 6AAR AL
268 A°GIF §68, GI2I 67F 6ARITTFR ACTINEN FE60 AATAR 6L, | F6SR 2T
919 R 2SS K0S 6615 el | BDIF 626R Bl IR FIGER ABLIS 6L FIE | LR TS
Jel IR 69869 TR ITE FERY AIRE |

SubQuestion No : 5
g1 9°g5e 2egl 2IqsI6m K6 §9?
X 1. RIS ATHE 9Ee9e I 696l 692l |
o 2. 69 92669 2R 6929 AYF AN QIS |
X 3. 229199 2K 6216 |
X 4. 2,06 QRISY 684G |

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448301
6306801750401
6306801750402
6306801750403
6306801750400
Answered

2




Q.6
Ans

Comprehension:

ArgIRe SRIFY FI6R FgEYR 76T JRIFe 6291 928 g6 | 2687 AAA6a AIFIFE TS
£l gE99S 999 621R2AI | gIFIFER 2UF 62468 FLIN USRS AATER T G2 62RYR,
g 2IRGIR 690 F8IR gERT AIE | A9EYS 6SISIN °GF6 298 2SI6R, 69 ITGER 2R
692 B9E GIN G | 69GFIRRR AIRES g98 TTI ABIR6R 219, 692¢lI6R 6518
QIRE9EI68 IR 2SR ZRAS 626R IR T67 YATH 2T 2HBR ANV 6931 AR 62ANIRG
6615 @ Fl6Ng6a 9694 A1 | g6SYS F2g F6a TIRQIRS IGET FU6R RRIGLIER
AQ9R ALZIg AYY QY 613 g6LlIs fRTIER B BFIT GIR 6T FRIE G6G, 69269 FRRR 62T
900 867 | 768 A8l 80 © AIR ZRIGIPE 6897 I8 UININIES AFIZIA ZIFN6R F19eg FTIR
Qa8 | AgIIeR 669 Godle 9268 2N | RFIS6R 6366 A9ARE 6 F12¢ AIdY AATE 621N,
692/6% S299 RIS 2R | 529 Bag 6RIF F165 40SI 956 g6s | 22 Ge) AAsIa ggIeg Gl
Q5 69 9T FRFQINIR AN ARG, GILIEL6R FIS6R B AN AAYS JIF A6L AL |
699168 9Q1 916 218 A6 FIRTAIS K9G, 62719@9 A2l €1 °GEG Q6% | F68YR
J299 9@ FEIeY BIF 98I IPeR1a | AIFIY ad FYQ 9T6 AANQE 90 366 F2g ABIIGR
2RYFID 6LIRANER | FEURINR FRRR TAUIY T | FEUANASI 21 APLARS TR
AFEHNE 621R IR FRG 2RI AR | SIR MY 65IS1Y 2ASRARG 2D 92N | ASRET K2R
A9EYR 66 927 g9 I 6 AAYR TG £l Q6T AIE | FEQ ARSI 6 9F gala agay
SRR G126 F69 | 6997 6915 FIgIRFI RIL6R AT 6RIGE LYl L°CRER 26eR
694N | 626l8g 999 F29 69IR QRITIA & A6 | 69168 IE @9 gellg 2gaad 88
QIYIGNS F28 SALIRAES; TG 62266, F698E g8 MY 6291 5S | AI9eIA ¢l 93 Faa
A 2B LR 6291 AIR 26T Skl §IE | dlea AGUIES 621R FReg RRDSI IRl AgEYER
2eelaql d6g' | 6306 JI6HZ6R 6ARIRINGS 2I6T4 AT 98 QISR AIRT A61 | 6293 8R4
Sl QRIS FEIQY, A FEIRY AIRT 6967 ASRARD 63 Gl AT YTR A6 6 62 6AAR ALY
260 A°GIF 768, G121 67F 6ARITTFR ACTIEN FE60 AAAR 6L, | F6SR 2T
919 R 2SS K0S 6615 el | BDIF 626R Bl IR FIGER ABLIS 6L FIE | LR TS
Jel IR 69869 TR ITE FERY RS |

SubQuestion No : 6
QAEAUD 2AFPEEITR 1de 961 629 6MEI?
X 1. 9994 2l

X 2. 291958
X 3. 918 ea1E
o 4. 9299 e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448300
6306801750396
6306801750399
6306801750398
6306801750397
Answered

4




Q.7
Ans

Comprehension:

ArgIRe SRIFY FI6R FgEYR 76T dRIFE 6291 28 g6 | 2687 AAA6R ARG TS
£l gE99S 999 621R2AI | GIFIFER 2UF 62968 FLIN USRS AATER T G2 62RYR,
g 2G9N 690 F8IR gERT FIE | A9EYS 6SISIN °GE6 298 ASI6R, 69 ITGER 2R
692IQ F9E GIN G | 69GFIRRR AIRES I98 TTI ABIR6R 219, 692¢lI6R 6516
QIRE9EI68 IR 2SR ZRAS 626R IR T67 YATH 2T 2HBR ANV 6931 AR 62ANIRG
6615 @ Fl6Ng6a 9694 A1 | g6SYS F2g F6a TIRRIRS IGET FU6R RRIGLIER
AQ9R ALZIg AYY QY 613 g6Lis fRTIER B BTN GIR 6T FRIE G6G, 69269 FRRR 62T
900 867 | 768 A8l 80 © AIR ZRIGIPE 689R IR UIRINIES AFIZIA ZIF6R F190g FTIR
Qa8 | AgIIeR 669 Godle 9268 2N | RFIS6R 6366 A9ARE 6 F12¢ AIdY AATE 62N,
692/6% S299 RIS 2R | 529 Bag 6RIF F165 40SI 956 g6s | 22 Ge) AAsIa ggIeg Gl
Q5 69 9T FRFQINIR AN ARG, GILIEL6R FIS6R B AN AAYS JIF A6L AL |
6996168 49Q1 916 D18 AF6R FIRTAIS K9G, 62719@9 A2l €1l °GEG Q6% | 68U
J299 9@ FEIeY BIF 989l QIPeR1a | AIFIY o FYQ 9T6 AANQE 94 366 F2F ABIIGR
2RYFIDN 6LIRANER | FEURINR TR TAUNY T | FEUANASI 21 APLARS TR
AFGHNE 621 IR FRG 2RI FIR | SIR MY 65IS1Y 2ASRARG 2ol SN | ASREF K2R
A9EYR 66 2R g9 fIE 6 AAYR TG £l Q6T AIE | Faa ARSI 6 9F gl agay
SRR G126 F69 | 6997 6915 FIgIRFI RIL6R AT 6RIGE LYl L°CRER 26eR
694l | 626l8g 999 F29 69IR FRITIA & A6 | 69168 IE @9 gellg 2gaad 88
QIYIGNS F24 SALIRAES; TG 62266, F698E g8 MY 6291 @5 | AI9eIA ¢l 93 FaR
A 2B LR 6291 AIR 26T Skl QIE | dea AGUIES 621R FReg RRDSI IRl AgEYER
2eelanl d6s' | 6300 JI6HZER 6ARIRIAGS 2I6T4 AT 98 QISR AIRT A61 | 6293 aQ4l
Sl QRIS FEIQY, A FEIRY AIRT 6967 ASRAFD 63 Gl AT YTR A6 6 62 6AAR ALY
260 A°GIF 768, G121 67F 6ARITTFR ACTIEN FE60 AAAR 6L, | F6SR 2T
919 R 2SS K0S 6615 el | BDIF 626R Bl IR FIGER ABLIS 6L FIE | LR TS
Jel IR 69869 TR ITE FERY AIRE |

SubQuestion No : 7
AGNIER 6619 F6ia 696 & 2AN?
X 1. 9694 AIRe *99l6a |
X 2. QelIg 2998 KRQI6R |
o 3. AAATS 24UgIg 20 9 F199g FFIRSI6R |
X 4. 19219 Q196 AIRITAS A1 |

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448302
6306801750405
6306801750406
6306801750407
6306801750404
Answered

3




Comprehension:

AraIRe SRIFE FI6R FgEYR FaT dRIFE 6291 8 g6 | 2687 AAA6R ARG T
£l gE99S 999 621R2AI | gIFIFER 2UF 62468 FLIN USRS AATER T T2 62RYR,
g 2IR9IR 6909 F8IR geRe FIE | A9EYS 6SISIN °GE6 298 2RSI6R, 69 2GR 2R
6929 F9E UM G | 69GFIRRR FAIRES g98 TTI ABIR6R 219, 692¢lI6R 6516
QIRE9EI68 IR AR ZRAS 626R IR T67 YAAH 2T 2HBR ANV 6931 AR 62ANRG
6615 @ Fl6Ng6R 9694 A1 | g6SYS F2g FaR TIRQIRS IGET FU6R RRIGLIER
AQSR 2LZIg AYY QY 613 g6Lis fRTIER B BFIT GIR TR FRIE G6G, 69269 FRRR 62T
909 867 | 768 A8l 80 @ AIR ZRIGIPE 689R IR UININIES AFIZIA ZIFN6R F190G FTIR
Qa8 | AgIIan 669 Gadle 9268 2N | RHIS6R 6366 A9ATR 6 F12¢ AIdY AATE 62IRR,
692/69 S299 RIS 2R | 529 Bag 6RIF F165 409l 956 g6T | 22 Ge) AAsIa ggIeg Gl
Q0 62 9T FRFQININ JA6AIN ARG, GILIEL6R FS6R 81 AN AAYS JIF A6L AIE |
699168 49Q1 916 218 QIFER FIRITAIS F0E, 62719@9 A2l €1l °GES Q6% | Y6BUR
9299 9@ 69y Bl A@Ql eraal | ey ad FYa 986 TR 90 @64l F8Y ARG
2RYFIDN 6LIRANER | FEURINR FRRR TAUNIY T | FEUANASI 21 APLARS TR
AFEHNE 621R IR FRG 2RI FIR | SIQ MY 65IS1Y ASRARG e G2 | ASRET K2R
A9EYR 66 927 g9 A1 6 AAYR FAG! £l Q6T AIE | FEQ ARSI 6 9F gl agay
SRR FI26 F69 | 6997 6515 FIgIRFI RIL6R AT 6RIGE L°HUl L°CIRER 26eR
699N | 626l8g 999 FJ29 69IR FRITIA & A6 | 64168 IE @9 gellg 2gaad /8
QYIS F24 SALIRAES; TG 62266, F698E g8 MY 6291 @5 | A9eIA ¢l 93 Faa
A 2B LR 6291 AIR 26T Skl QIE | dlea AgUIEe 621R FReg RRDSI IRl AgEYER
2eelaql d6g' | 6306 YI6HZ6R 6IRIRIAGS 2I6a4 2T 98 QISR AIRT 461! | 6293 8R4l
SIR QUL FEIQY, A FEIRY AIRT 6967 ASRAFD 63 Gl 6ITR YTR A6 6 62 6AAR ALY
268 A°GIF §68, GI2I 67F 6ARITTFR ACTINEN FE60 AAAR 6L, | F6SR 2L
919 R 2SS S0 6615 el | BDIF 626R Bl IR FIGER ABLIS 6L FIE | LR TS
Jel AR 69869 FYR ITE FERY RS |

SubQuestion No : 8

Q.8 caq L9 4°dIN6Q QdgD gIe Qlé'?
Ans X' 1. 6aQ Jeg 70g 97 768 a9, 212l B YOG CIRIFER GRIHR 993 , 6 Al Qdde I 9@
I
o 2. 69Q qeg feq GQIG‘ F16 Q091 98¢ 22 A9y AASIQ deleq % /R SRIFR A6
Q98 , ol 9IR @dge I QI@ |
X 3. 092997 29gig A A 612 J6Idl @6, Bl aie QA I QIi‘ |
X 4.309adeq AGIEG 6210 0] amdlg, Gl Glﬁf@ﬂg@ 2oy G‘Ii‘ |
Question ID : 630680448303
Option 1 ID : 6306801750408
Option 2 ID : 6306801750409
Option 3 ID : 6306801750410
Option 4 ID : 6306801750411
Status : Answered
Chosen Option : 2
Q9 gega Qe e e'61?
Ans X' 1. 29448 J6m QT QSI
X 2. 26IQY 394 624
o 3. 2°996Q 98 YA LS FER RS AR |
X 4.qd6a AQdIfe 621R FR]g mdal |
Question ID : 630680448310
Option 1 ID : 6306801750434
Option 2 ID : 6306801750435
Option 3 ID : 6306801750432
Option 4 ID : 6306801750433
Status : Answered

Chosen Option :

3




Q.10 2IF 699 ANIQ gORE Qlé‘?

Ans

X 1. sloda Sl
o 2. 9299 2S8R

X 3.9i519 a8
X 4.€198% J8
Question ID : 630680448309
Option 1 ID : 6306801750431
Option 2 ID : 6306801750429
Option 3 ID : 6306801750428
Option 4 ID : 6306801750430
Status : Answered
Chosen Option : 2
Section : Part 1 General Knowledge and Current Affairs
Q1 COP27: 27th annual UN meeting on climate was held in which country?
X 2. Canada
X 3. Japan
X 4. India
Question ID : 630680448312
Option 1 ID : 6306801750443
Option 2 ID : 6306801750442
Option 3 ID : 6306801750441
Option 4 ID : 6306801750440
Status : Not Answered
Chosen Option : --
Q2 Which among the following is a feature of Public Bill?
Ans X 1. Its drafting is the responsibility of the member concerned
X 2. It reflects the stand of opposition party on public matter
« 3. It is introduced by a minister only in parliament
X 4. Its introduction requires one month’s notice in the House
Question ID : 630680448318
Option 1 ID : 6306801750467
Option 2 ID : 6306801750466
Option 3 ID : 6306801750464
Option 4 ID : 6306801750465
Status : Not Answered

Chosen Option :




Q.3 Who is the new Prime Minister of Sweden based on available information as of October 20222

Ans X 1. Joe Biden
« 2. Ulf Kristersson
X 3. Vladmir Putin
X 4. Volodymyr Zelenskyy
Question ID : 630680448311
Option 1 ID : 6306801750439
Option 2 ID : 6306801750437
Option 3 ID : 6306801750438
Option 4 ID : 6306801750436
Status : Answered
Chosen Option : 2
Q.4 ‘Nutrition at Doorsteps’ program launched in Odisha, aims at which among following social cause?
Ans X 1.
To launch a flagship program to empower girls and ladies of the state
< 2.
To provide free fruits and vegetables to each household in the state
+ 3. To address malnutrition and anemia in Swabhiman Anchal
< 4.
To provide mothers and new born babies with complete nutritional care in the state
Question ID : 630680448313
Option 1 ID : 6306801750445
Option 2 ID : 6306801750444
Option 3 ID : 6306801750447
Option 4 ID : 6306801750446
Status : Answered
Chosen Option : 3
Q.5 The National Highways Authority of India (NHAI) was eperationalized in which of the following year?
Ans X 1. 1999
< 2. 1903
X3 199]
W 4. 1905
Question ID : 630680448317
Option 1 ID : 6306801750463
Option 2 ID : 6306801750461
Option 3 ID : 6306801750460
Option 4 ID : 6306801750462
Status : Not Answered

Chosen Option :




Q.6 The missionaries prepared the Odia letters and printed the first Odia Bible in which of the following vear?

Ans X 1. 1806
X 2. 1805
« 5 1804
X 4. 1803
Question ID : 630680448315
Option 1 ID : 6306801750455
Option 2 ID : 6306801750454
Option 3 ID : 6306801750453
Option 4 ID : 6306801750452
Status : Not Answered
Chosen Option : --
Q.7  Drought Prone Area Programme was initiated during which of the Five-Year Plan?
Ans X 1. Fifth Five-Year Plan
+ 2. Fourth Five-Year Plan
X 3. Second Five-Year Plan
X 4. Third Five-Year Plan
Question ID : 630680448320
Option 1 ID : 6306801750475
Option 2 ID : 6306801750474
Option 3 ID : 6306801750472
Option 4 ID : 6306801750473
Status : Not Answered
Chosen Option : ==
Q.8 In which of the following vears did the Jallianwala Bagh massacre take place?
Ans 1. 1919
X2 1923
X3 1921
X4 1922
Question ID : 630680448314
Option 1 ID : 6306801750448
Option 2 ID : 6306801750451
Option 3 ID : 6306801750449
Option 4 ID : 6306801750450
Status : Answered

Chosen Option :

1




Q.9

Ans

What is the normal svstolic blood pressure in human beings?

X 1. 110 mm of Hg
« 2. 120 mm of Hg
X 3. 90 mm of Hg
X 4. 80 mm of Hg

Question ID : 630680448319
Option 1 1D : 6306801750469
Option 2 ID : 6306801750468
Option 3 ID : 6306801750470
Option 4 ID : 6306801750471
Status : Answered
Chosen Option : 4
Q.10 As per Koeppen classification of climates. what type of climate does “BWK” represents?
Ans X 1. Mediterranean
« 2. Mid-latitude deserts
X 3. Tundra
X 4. Tropical wet and dry
Question ID : 630680448316
Option 1 ID : 6306801750456
Option 2 ID : 6306801750458
Option 3 ID : 6306801750457
Option 4 ID : 6306801750459
Status : Not Answered
Chosen Option : --
Section : Part 1 Reasoning Ability
Q1 How is the wife of Shivam's maternal grandmother's only son-in-law related to Shivam?
Ans 1. Mother
X 2. Father
X 3. Aunt
X 4 Uncle
Question ID : 630680448325
Option 1 ID : 6306801750492
Option 2 ID : 6306801750493
Option 3 ID : 6306801750494
Option 4 ID : 6306801750495
Status : Answered
Chosen Option : 2




Q.2

SY4W3IX202Z5=

W means ‘“+. X means '-' Y means *=' and Z means “+', then

Ans X 1. 17
2 10
X3 18
x4 20
Question ID : 630680448329
Option 1 ID : 6306801750508
Option 2 ID : 6306801750510
Option 3 ID : 6306801750509
Option 4 ID : 6306801750511
Status : Answered
Chosen Option : 2
Q.3 What will come in the place of question mark (as per mineral and their symbols)?
Iron: Fe:: Tungsten: 7
Ans X1V
X2 H
X3 C
o 4 W
Question ID : 630680448327
Option 1 ID : 6306801750502
Option 2 ID : 6306801750501
Option 3 ID : 6306801750503
Option 4 ID : 6306801750500
Status : Answered
Chosen Option : 4
Q.4 Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts, decide which of the given conclusions logically
follow(s) from the statement(s).
Statement:
Some deserts are sweet
Some sweet are walnuts
Conclusion:
1. All walnuts are either sweet or deserts
2. Some walnuts are sweet
Ans X 1. Only conclusion 1 follows
« 2. Only conclusion 2 follows
X 3. Neither 1 nor 2 follows
X 4. Both 1 and 2 follow
Question ID : 630680448326
Option 1 ID : 6306801750496
Option 2 ID : 6306801750497
Option 3 ID : 6306801750499
Option 4 ID : 6306801750498
Status : Answered
Chosen Option : 2




Q5 Which of the following four options embeds the original figure X?

(5:9] ) 2 3) C))
Ans g1 1
X2 2
X3 4
X4 3
Question ID : 630680448328
Option 1 ID : 6306801750504
Option 2 ID : 6306801750505
Option 3 ID : 6306801750507
Option 4 ID : 6306801750506
Status : Answered
Chosen Option : 1
Q6 Which will replace the question mark in the given series?
AA EC IE, OG, 77
Ans X 1. OP
X2 U
X3 PO
4 Ul
Question ID : 630680448323
Option 1 ID : 6306801750484
Option 2 ID : 6306801750486
Option 3 ID : 6306801750485
Option 4 ID : 6306801750487
Status : Answered
Chosen Option : 4
Q.7 The rank of Rajiv is 10th from the top and 25 from the bottom in a group then how many boys were there in that group?
Ans X 1. 32
<2 33
K3 35
4 34
Question ID : 630680448322
Option 1 ID : 6306801750482
Option 2 ID : 6306801750481
Option 3 ID : 6306801750483
Option 4 ID : 6306801750480
Status : Answered
Chosen Option : 4




Q.8

8, 15,29, 57,7

What will come in the place of question mark to make it logically complete?

Ans X' 1. 145
X2 123
3 113
X4 128
Question ID : 630680448330
Option 1 ID : 6306801750515
Option 2 ID : 6306801750514
Option 3 ID : 6306801750513
Option 4 ID : 6306801750512
Status : Answered
Chosen Option : 3
Q.9 Five friends namely Pramod, Keval, Ritesh, Saurabh and Tarun are sitting in a line facing West. Pramod and Keval are
sitting together. Ritesh is sitting at the south end and Saurabh is sitting at the North end. Tarun is sitting between Keval
and Ritesh. Who is sitting between Saurabh and Keval?
Ans X 1. Ritesh
+ 2. Pramod
X 3. Saurabh
X 4. Keval
Question ID : 630680448321
Option 1 ID : 6306801750478
Option 2 ID : 6306801750476
Option 3 ID : 6306801750479
Option 4 ID : 6306801750477
Status : Answered
Chosen Option : 2
Q.10 IfRUST becomes SVTU and TUSK becomes UVTL. What SOFT will become in the same manner?
Ans 1. TPGU
X 2. TUPG
X 3. PUTG
X 4 TGPU
Question ID : 630680448324
Option 1 ID : 6306801750489
Option 2 ID : 6306801750490
Option 3 ID : 6306801750491
Option 4 ID : 6306801750488
Status : Answered
Chosen Option : 1

Section : Part 1 Computer Literacy




Q.1

Ans

What does "RGB" stand for in display properties settings?
X 1. Random Graphics Box

X 2. Real-time Graphics Boost

X 3. Resolution for Games and Browsing

« 4. Red, Green, Blue

Question ID

Option 11D :
Option 21D :

Option 3 ID

Status

1 630680448335
6306801750533
6306801750535

: 6306801750534
Option 4 ID :

6306801750532

: Not Answered
Chosen Option :

Q.2 What is the term for the practice of sharing information. ideas, and opinions on the internet?

Ans X 1. Teli-communication
& 2. Social networking
X 3. Internet shopping
#5 4. Skydiving
Question ID : 630680448334
Option 1 ID : 6306801750530
Option 2 ID : 6306801750529
Option 3 ID : 6306801750528
Option 4 ID : 6306801750531
Status : Answered
Chosen Option : 2
Q3  How does ICT benefit Railway Reservation services in e-Governance?
Ans & 1. By simplifying ticket booking and improving access
X 2. By reducing the number of available trains
x 3.
By making reservation processes manual and time-consuming
X 4. By increasing ticket prices
Question ID : 630680448331
Option 1 ID : 6306801750518
Option 2 ID : 6306801750516
Option 3 ID : 6306801750517
Option 4 ID : 6306801750519
Status : Answered

Chosen Option :

1




Q.4 Which type of computer memory is volatile and loses its data when the computer is powered off?
Ans X' 1. HDD

X 2. ROM

A 3. CPU Cache

« 4 RAM

Question ID : 630680448332
Option 1 ID : 6306801750522
Option 2 ID : 6306801750521
Option 3 ID : 6306801750523
Option 4 ID : 6306801750520
Status : Answered
Chosen Option : 4

Q5 The first computer mouse was invented by:

Ans X 1. Charles Babbage
X 2. Steve Jobs
X 3. Tim Berners-Lee
« 4. Douglas Engelbart

Question ID : 630680448333
Option 1 ID : 6306801750527
Option 2 ID : 6306801750524
Option 3 ID : 6306801750525
Option 4 ID : 6306801750526
Status : Not Answered
Chosen Option : --

Section : Part 1 Child Development Learning Curriculumsand‘Assessment

Q.1  Which appreach primarily positions the teacher as the main source of knowledge and authority in the classroom?

Ans X 1. Donor-centered
X 2. Admin-centered
X 3. Learner-centered
« 4. Teacher-centered

Question ID : 630680448349
Option 1 ID : 6306801750590
Option 2 ID : 6306801750591
Option 3 ID : 6306801750588
Option 4 ID : 6306801750589
Status : Answered
Chosen Option : 4




Q.2

During early adolescence, which physical change is commonly observed?

Ans 1. Decreased appetite
X 2. Lowered voice in females
X 3. Growth spurt
X 4. Reduced sleep requirement
Question ID : 630680448336
Option 11D : 6306801750536
Option 2 ID : 6306801750538
Option 3 ID : 6306801750537
Option 4 ID : 6306801750539
Status : Answered
Chosen Option : 3
Q3 Which classroom environment promotes active learning?
Ans X 1. Teacher-centered with lecture style
« 2. Student-centered with group activities
X 3. A silent room with no interaction
X 4. Dim lighting with no visual aids
Question ID : 630680448340
Option 1 ID : 6306801750553
Option 2 ID : 6306801750552
Option 3 ID : 6306801750554
Option 4 ID : 6306801750555
Status : Answered
Chosen Option : 2
QEREE SR €S URIQIER YYRIROER YIEad 28T
A A — = \ <
" v a9 Qe 56d GQuidllg 9e 94 G1aa! JaAQ 699
X 2. galg gload ‘E]IEE @ @Gﬂ‘ﬂlt{'&?i’& BRI DEE
< 3.
@2ULIEl GP2APIQ e@lald Feuiely 686NgER TITING COIRERT!
X 4. graged eatael din 200 seIfea 699
Question ID : 630680448348
Option 11D : 6306801750584
Option 2 ID : 6306801750585
Option 3 ID : 6306801750586
Option 4 ID : 6306801750587
Status : Answered

Chosen Option :

1




Q.5 What is the primary purpose of formulating instructional objectives in curriculum development?

Ans

X 1. To determine grading systems

X 2. To select textbooks

« 3. To guide the selection of content

X 4. To mandate teaching methodologies

Question ID : 630680448346
Option 1 ID : 6306801750577
Option 2 ID : 6306801750579
Option 3 ID : 6306801750578
Option 4 ID : 6306801750576
Status : Answered
Chosen Option : 3
Q.6 When a child sees another child get praised for good behavior and decides to behave similarly, this is an example of
learning through:
Ans 1. Observation
X 2. Experience
X 3. Trial and error
X 4. Imitation
Question ID : 630680448341
Option 1 ID : 6306801750557
Option 2 ID : 6306801750559
Option 3 ID : 6306801750556
Option 4 ID : 6306801750558
Status : Answered
Chosen Option : 1
Q.7 Which of the following approaches emphasizes passive absorption of information by the learners?
Ans X 1. Constructivist approach
+ 2. Direct Instruction
X 3. Collaborative learning
X 4. Problem-based learning
Question ID : 630680448350
Option 1 ID : 6306801750595
Option 2 ID : 6306801750594
Option 3 ID : 6306801750593
Option 4 ID : 6306801750592
Status : Answered
Chosen Option : 2




Q8 How can technology be leveraged in an inclusive classroom?

Ans X 1. To replace teachers
X 2. To segregate students based on ability
X 3. To discourage collaborative learning
« 4. To provide assistive tools
Question ID : 630680448342
Option 1 ID : 6306801750560
Option 2 ID : 6306801750561
Option 3 ID : 6306801750563
Option 4 ID : 6306801750562
Status : Answered
Chosen Option : 4
Q9 gpecial education primarily focuses on:
Ans X 1. Educating evervone together without differentiation.
2
Providing education in separate facilities for students with disabilities.
~< 3.

Integrating students with disabilities into regular classrooms.

X 4. Using adaptive technologies in classrooms.

Question ID : 630680448343
Option 1 ID : 6306801750565
Option 2 ID : 6306801750567
Option 3 ID : 6306801750566
Option 4 ID : 6306801750564
Status : Answered
Chosen Option : 2

Q.10 Which principle of curriculum construction emphasizes that the curriculum should provide opportunities for the all-
round development of the individual?

Ans X 1. Flexibility
X 2. Continuity
X 3. Utility

« 4. Child-centeredness

Question ID : 630680448345
Option 1 ID : 6306801750572
Option 2 ID : 6306801750575
Option 3 ID : 6306801750574
Option 4 ID : 6306801750573
Status : Answered
Chosen Option : 1




Q11 o aefog saview Srin Seid §97 6298 CPR 4602 CIPEIN, 65T 6IFISE 604 ST AW S99l 88e?

Ans X 1.
FRisiae Tassaude(Developmental Physiotherapist)

X 2. @@IIae Ui (Developmental midwife)

3.
FRISae d¢ 6018l FeagR(Developmental Paediatrician)

X 4 S@IIde gy 9@ee (Developmental Surgeon)

Question ID : 630680448338
Option 1 ID : 6306801750545
Option 2 ID : 6306801750544
Option 3 ID : 6306801750546
Option 4 ID : 6306801750547
Status : Answered
Chosen Option : 3
Q12 Gae sieran 8¢ armia 9Rent (CRC) agaia, fgRge drg s690q 96ewe Jge JIe 19 &0lae 2ueIR GI9ea
Aligyel FaiE?
Ans X 1. GIglY ZRDIR
¢ 2. del dife @91Q 2wl
X 3. Sigl 2yl
X 4. EClEeIQ )Rl
Question ID : 630680448344
Option 1 ID : 6306801750570
Option 2 ID : 6306801750568
Option 3 ID : 6306801750569
Option 4 ID : 6306801750571
Status : Answered
Chosen Option : 2
Q.13 Which of the following conditions is essential for the readiness of an individual to learn a specific skill or concept?
Ans 1. Maturation
X 2. Fatigue
X 3. Reinforcement
X 4. Tasks
Question ID : 630680448339
Option 1 ID : 6306801750551
Option 2 ID : 6306801750549
Option 3 ID : 6306801750550
Option 4 ID : 6306801750548
Status : Answered
Chosen Option : 1




Q.14 A teacher who emphasizes on neatness, proper spacing, and highlighting main poeints is focusing on which skill?

Ans X 1. Questioning Skills
X 2. Communication Skills
X 3. Evaluation Skills
« 4. Blackboard Writing Skills
Question ID : 630680448347
Option 1 1D : 6306801750581
Option 2 ID : 6306801750580
Option 3 ID : 6306801750582
Option 4 ID : 6306801750583
Status : Answered
Chosen Option : 4
Q15 HioGe FeainIeaise AISRINE Salaa g6 Feaael FORGE I 6296 21662
Ans X 1. 28-969041R 98° Q6RGR| 996!
X 2. QI9gQE 76929 OF J6510a4IR 928
o 3. 99669 071 AR AIFS
X 4. QLRI QIS6R YLIQAIT 62T
Question ID : 630680448337
Option 1 ID : 6306801750542
Option 2 ID : 6306801750543
Option 3 ID : 6306801750541
Option 4 ID : 6306801750540
Status : Answered
Chosen Option : 4
Section : Part Il Subject Contents
Q1 ; 1 1 A 2 | a ., 1)\ fRMS1N (k3P
What is the valueof(k+—) (k——) (I{- +‘—)(k +—)( )( )?
k L ¥ N k2 ' ks R3z
Ans 1
1. a2 it
x (k + =
o2 (k64 =1
' L5654
X (EE¥s-
I G
Xa (k32—
’ L322
Question ID : 630680448355
Option 1 1D : 6306801750612
Option 2 ID : 6306801750615
Option 3 ID : 6306801750614
Option 4 ID : 6306801750613
Status : Not Answered
Chosen Option : --




Q.2 The compound interest (compounding half vearly) received on Rs. 14000 for 2 years is Rs. 15030.4. What is the rate of

interest per annum?

X1
~ 2.
o 3.
X 4.

Ans

35 percent
20 percent
40 percent

25 percent

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 630680448357
6306801750622
6306801750620
6306801750623
6306801750621
Not Answered

Q3 Ifp(x) = 3x + 2, then what is the zero of the polynomial p(x)?

Ans X 1. ek
2
> AR
2
&3 X=—
3
X4 x=2
Question ID : 630680448353
Option 1 ID : 6306801750607
Option 2 ID : 6306801750604
Option 3 ID : 6306801750605
Option 4 ID : 6306801750606
Status : Answered
Chosen Option : 3
Q4 The Sum of a rational and an irrational number is always a :
Ans X 1. integer
X 2. patural number
« 3. Irrational number
X 4. rational number
Question ID : 630680448352
Option 1 ID : 6306801750602
Option 2 ID : 6306801750603
Option 3 ID : 6306801750601
Option 4 ID : 6306801750600
Status : Answered
Chosen Option : 3




Q.5 Which is that smallest three digit number which when decreased by 5 becomes divisible by both 4 and 57

Ans X 1. 105
X2 135
X3 115
4 125
Question ID : 630680448351
Option 1 ID : 6306801750598
Option 2 ID : 6306801750599
Option 3 ID : 6306801750597
Option 4 ID : 6306801750596
Status : Answered
Chosen Option : 1
Q.6 a5 ogyen 6alk ada 6T 22 cm BIsT | 2Ry gRE a1d §gp 1F w4 9 BEKIREEl AR 6T KRIFET 8 om 1
12 cm 285 | 990D SRETR 6965 7
Ans
X1 110 cm?
X2 180 cm?
¥3.220 cm?
X 4. 250 cm?
Question ID : 630680448361
Option 1 ID : 6306801750637
Option 2 ID : 6306801750639
Option 3 ID : 6306801750636
Option 4 ID : 6306801750638
Status : Not Answered
Chosen Option : --
Q.7 wazeZ e 170 ghes 96° W A 8¢ Z 6 gaa 70 g5e aeel 4% 7 ol 219@ 30 JFEIe 926 @08, 6968 W
Ol 6 2Ide 6W6E U54Ie U8 AGee ?
Ans e
X 1. 7362 e
X 2. 7026 9899
X3 7215 gGde
o 4 1118 dede
Question ID : 630680448358
Option 1 ID : 6306801750625
Option 2 ID : 6306801750626
Option 3 ID : 6306801750624
Option 4 ID : 6306801750627
Status : Not Answered

Chosen Option :




Q.8 ogep cqIE ad 26y addn 60 gBEG 2166 1 090 6AIGTR 986 920 dla 65dia 960 2GAI0 65657

Ans €147 1]
X220
¢ 3 310
X457
Question ID : 630680448362
Option 1 ID : 6306801750640
Option 2 ID : 6306801750642
Option 3 ID : 6306801750641
Option 4 ID : 6306801750643
Status : Not Answered
Chosen Option : --
Q.9 .
If 2® = 4/256, then what is the value of n?
Ans 1 3
X2 3
3 4
x4 8
Question ID : 630680448354
Option 1 ID : 6306801750609
Option 2 ID : 6306801750608
Option 3 ID : 6306801750610
Option 4 ID : 6306801750611
Status : Answered
Chosen Option : 4
Q.10 : VBo—112
What is the value of ——7
V4563
Ans ) i
1. 1=
3
7
X2 1=
9
3
W3 i
4
3
X4 1-
4
Question ID : 630680448356
Option 1 ID : 6306801750618
Option 2 ID : 6306801750619
Option 3 ID : 6306801750616
Option 4 ID : 6306801750617
Status : Not Answered

Chosen Option :




Q.11 In triangle ABC, AB = AC. If /BAC =40 degrees, then what is the value of ZABC?

Ans 1. 80 degrees

« 2. 70 degrees
X 3. 60 degrees
X 4. 65 degrees
Question ID : 630680448360
Option 1 ID : 6306801750635
Option 2 ID : 6306801750632
Option 3 ID : 6306801750633
Option 4 ID : 6306801750634
Status : Answered
Chosen Option : 2
Q.12 The angles of a triangle are (2x — 1) degrees. 3x degrees and (4x + 10) degrees, then what is the value of x?
Ans g1 19
X2 |5
X3 16
x4 17
Question ID : 630680448359
Option 1 ID : 6306801750628
Option 2 ID : 6306801750631
Option 3 ID : 6306801750630
Option 4 ID : 6306801750629
Status : Answered
Chosen Option : 1
Q13 Which of the following is a scalar quantity?
Ans X 1. Acceleration
X 2. Force
« 3. Speed
X 4. Velocity
Question ID : 630680448368
Option 1 ID : 6306801750667
Option 2 ID : 6306801750664
Option 3 ID : 6306801750665
Option 4 ID : 6306801750666
Status : Answered
Chosen Option : 2




Q.14 What is the balanced chemical equation for the reaction between hydrogen and
oxygen to form water (H,0)?

Ans

X1 HO-=Hy + Oy
o 2. EHZ = 02 - 2H20
X 3. 4H2 oa 02 - 4H20
X4 Hy 0y -=H,0O
Question ID : 630680448366
Option 1 ID : 6306801750659
Option 2 ID : 6306801750656
Option 3 ID : 6306801750658
Option 4 ID : 6306801750657
Status : Answered
Chosen Option : 2
Q15 What does the symbol "H" represent in the periodic table?
Ans X 1.Helium
X 2. Hafnium
#< 3. Hassium
«” 4. Hydrogen
Question ID : 630680448365
Option 1 1D : 6306801750652
Option 2 ID : 6306801750655
Option 3 ID : 6306801750654
Option 4 ID : 6306801750653
Status : Answered
Chosen Option : 4
Q16 1 which state of matter do particles have the least freedom of movement?
Ans X 1. Liquid
X 2. Gas
+ 3. Solid
X 4. Plasma
Question ID : 630680448369
Option 1 1D : 6306801750669
Option 2 ID : 6306801750670
Option 3 ID : 6306801750668
Option 4 ID : 6306801750671
Status : Answered
Chosen Option : 3




Q.17

Ans

When an acid reacts with a base, what type of reaction takes place?

& 1. Oxidation-reduction reaction
« 2. Weutralization reaction
X 3. Precipitation reaction

& 4. Combustion reaction

Question ID : 630680448367
Option 1 ID : 6306801750660
Option 2 ID : 6306801750662
Option 3 ID : 6306801750661
Option 4 ID : 6306801750663
Status : Answered
Chosen Option : 2
Q.18 What is the relationship between pressure and the area over which force is applied?
Ans X 1. Pressure is proportional to the square of the area
X 2. Pressure is directly proportional to the area
X 3. Pressure is not related to the area
« 4. Pressure is inversely proportional to the area
Question ID : 630680448374
Option 1 ID : 6306801750691
Option 2 ID : 6306801750690
Option 3 ID : 6306801750689
Option 4 ID : 6306801750688
Status : Answered
Chosen Option : 2
Q19 = = W, .
QEIMGe FIRIQ €RW6 1YY © g6l 2lee?
Ans X1 Gage
X 2. g4 @em OE% [l
¢ 3 Fla MY @lols RINEs doeer celnaal
X4 7 g ea pH
Question ID : 630680448373
Option 1 1D : 6306801750684
Option 2 ID : 6306801750686
Option 3 ID : 6306801750685
Option 4 ID : 6306801750687
Status : Answered
Chosen Option : 3




Q20 Which planet in our solar system is known as the "Red Planet"?

Ans

X 1. Jupiter
X 2. Earth
« 3. Mars
X 4. Venus
Question ID : 630680448371
Option 1 ID : 6306801750677
Option 2 ID : 6306801750678
Option 3 ID : 6306801750679
Option 4 ID : 6306801750676
Status : Answered
Chosen Option : 3
Q.21 & v 5 ,
2ejel*dl Zllggew dim 610 Siaflgie dlgla godl '€l eRlmald?
Ans X 1. @l
X2 oo
X3 q0e
o 4. Slild
Question ID : 630680448372
Option 1 1D : 6306801750682
Option 2 ID : 6306801750681
Option 3 ID : 6306801750680
Option 4 ID : 6306801750683
Status : Answered
Chosen Option : 4
@22 Which of the following is a characteristic property of metals?
Ans 1. Good conductors of electricity
X 2. Brittle
X 3. Low melting point
X 4. High electronegativity
Question ID : 630680448363
Option 11D : 6306801750646
Option 2 ID : 6306801750645
Option 3 ID : 6306801750647
Option 4 ID : 6306801750644
Status : Answered

Chosen Option :

1




Q.23 gae6se6n BICRIG GRS 6RlIT Sk 2IRY Claieg cawdal andsn 6 0Beas aBal, Glglg @9 GRITIN?

Ans i
v 1. gedodl
X 2. gaEls
X 3. gEcree
X4 Salde
Question ID : 630680448370
Option 1 ID : 6306801750673
Option 2 ID : 6306801750674
Option 3 ID : 6306801750672
Option 4 ID : 6306801750675
Status : Answered
Chosen Option : 3
Q.24 How many elements are there in the periodic table (as of my knowledge cutoff date in September 2021)?
Ans 1. 118
X2 92
X 3. 106
X 4. 63
Question ID : 630680448364
Option 1 ID : 6306801750649
Option 2 ID : 6306801750648
Option 3 ID : 6306801750651
Option 4 ID : 6306801750650
Status : Answered
Chosen Option : 1
el il 3 @31 W SRl Y diz eme glgl@le @il 7
Ans e
X 1. ggigewil (anedis)
X2 qow
v golg
X4 gl
Question ID : 630680448384
Option 1 ID : 6306801750729
Option 2 ID : 6306801750730
Option 3 ID : 6306801750728
Option 4 ID : 6306801750731
Status : Answered
Chosen Option : 3




a2 FRge F1I9 6996 K1efIRe F6R IR dIR1Ge BIgeae Bles ?

Ans X' 1499 @9 ZI9g 2IRI8Re 629

X 2.99 o0 6aldn dgal
o 3. 918 08 IR 6RIFIR I 26AVNFES 6¢1IT1 AR 3986 626!
X 4. 6909 gG6QIR €@ SRdS 95Sl

Question ID : 630680448376
Option 1 ID : 6306801750698
Option 2 ID : 6306801750696
Option 3 ID : 6306801750699
Option 4 ID : 6306801750697
Status : Answered
Chosen Option : 3
Q27 WWhich of the following is a common example of a microorganism?
Ans X 1. QOak tree
+ 2. Bacteria
X 3. Ladybug
X 4. Rose bush
Question ID : 630680448383
Option 1 ID : 6306801750727
Option 2 ID : 6306801750726
Option 3 ID : 6306801750724
Option 4 ID : 6306801750725
Status : Answered
Chosen Option : 2
Q28 Which organelle is often referred to as the "powerhouse" of the cell?
Ans X 1. Golgi apparatus
X 2. Nucleus
X 3. Endoplasmic reticulum
« 4 Mitochondrion
Question ID : 630680448381
Option 1 ID : 6306801750717
Option 2 ID : 6306801750716
Option 3 ID : 6306801750719
Option 4 ID : 6306801750718
Status : Answered
Chosen Option : 4




Q29 ywhat is the function of the cell's nucleus?

Ans X 1. Lipid synthesis

X 2. Energy production
« 3. Genetic Information storage and regulation

X 4. Protein synthesis

Question ID : 630680448382
Option 1 ID : 6306801750723
Option 2 ID : 6306801750721
Option 3 ID : 6306801750722
Option 4 ID : 6306801750720
Status : Answered
Chosen Option : 3
Q.30 Ly = 0= 1] ] 5 1
faal @RIGeq, 9°A4 da "OM™Q 22l @4l
Ans = z :
X 1. 2geia (O ptimal Moisture)
X 2. Beicq FHIegRElq (Osmotic Material)
X 3. Zlgedids deaalg (Outstanding Minerals)
¢ 4 gelfe ¢lee (Organic Matter)
Question ID : 630680448379
Option 1 1D : 6306801750710
Option 2 ID : 6306801750711
Option 3 ID : 6306801750709
Option 4 ID : 6306801750708
Status : Answered
Chosen Option : 4
Q.31 What does the acronym "ATP" stand for in the context of respiration and energy production?
Ans 1. Adenosine Triphosphate
X 2. Air Transport Protocol
X 3. Aerobic Transformation Process
X 4. Alveolar Transport Pathway
Question ID : 630680448378
Option 11D : 6306801750705
Option 2 ID : 6306801750704
Option 3 ID : 6306801750707
Option 4 ID : 6306801750706
Status : Answered

Chosen Option :

1




Q.32

@edlo PIeglen A°FY QI "HGH e 218 @'&1?

Ans X 1.
LIRTLGE 69lie] 206¢lq (Hyperactive Growth Hormone)
« 2. g5l egligl gasdlle (Human Growth Hormone)
X 3. @M egllel eaedle (High Growth Hormone)
X 4. 62GT 6gliel 9196 (Healthy Growth Habit)
Question ID : 630680448386
Option 1 ID : 6306801750739
Option 2 ID : 6306801750737
Option 3 ID : 6306801750736
Option 4 ID : 6306801750738
Status : Answered
Chosen Option : 2
@33 Which of the following is a primarv characteristic of adolescence?
Ans X 1. Stable physical development
X 2. Decreased social interactions
X 3. Reduced cognitive abilities
« 4. Rapid physical growth and maturation
Question ID : 630680448385
Option 1 ID : 6306801750732
Option 2 ID : 6306801750733
Option 3 ID : 6306801750734
Option 4 ID : 6306801750735
Status : Answered
Chosen Option : 1
Q.34 What does the acronym "GMO" typically refer to in the study of biological adaptation?
Ans X 1. Genetic Modification Observation
X 2. Genomic Mapping of Organisms
X 3. Growth and Maturation Overhaul
« 4. Genetically Modified Organism
Question ID : 630680448375
Option 1 ID : 6306801750692
Option 2 ID : 6306801750693
Option 3 ID : 6306801750695
Option 4 ID : 6306801750694
Status : Not Answered

Chosen Option :




Q35 god gRial Qdial Ag0IR 90 I6° 98¢ FIE ORIOR £ @7 Q1A BA AINER A 088 QIF ?

Ans g
¢ 1. 2l@2l (Sand)
X 2. 6Ql94l (Loam)
X 3. @a6l (Clay)
X 4. QIgaN(Silt)
Question ID : 630680448380
Option 1 ID : 6306801750712
Option 2 ID : 6306801750715
Option 3 ID : 6306801750714
Option 4 ID : 6306801750713
Status : Answered
Chosen Option : 1
Q36 WWhat is the primary purpose of respiration in living organisms?
Ans 1. To produce energy
X 2. To regulate body temperature
X 3. To support growth
X 4. To filter blood
Question ID : 630680448377
Option 1 ID : 6306801750700
Option 2 ID : 6306801750702
Option 3 ID : 6306801750703
Option 4 ID : 6306801750701
Status : Answered
Chosen Option : 1
Section : Part Il Pedagogy
Q.1 Piaget defined a to be a generalized action that improves by being repeatedly applied to similar situations in
varying contexts.
Ans X 1. observation
X 2. schema
X 3. plan
« 4 scheme
Question ID : 630680448392
Option 1 ID : 6306801750762
Option 2 ID : 6306801750760
Option 3 ID : 6306801750763
Option 4 ID : 6306801750761
Status : Answered
Chosen Option : 2




Q.2 Which of the following is an example of open-ended items in mathematics?

Ans

1.

The average of three numbers is 34. What are those numbers?

~< 2.

Find out the perimeter of the rectangle whose length and breadth are 7 cm and 3 cm respectively.

X 3. Find out the average of 78, 83 and 91.
X 4. Calculate 58 divided by 8.

Question ID : 630680448393
Option 1 ID : 6306801750765
Option 2 ID : 6306801750767
Option 3 ID : 6306801750764
Option 4 ID : 6306801750766
Status : Answered
Chosen Option : 1
Q.3 Which of the following is the initial stage of the experiential learning cycle?
Ans X 1. Processing
X 2. Publishing
X 3. Applying
« 4. Experiencing
Question ID : 630680448391
Option 1 ID : 6306801750756
Option 2 ID : 6306801750757
Option 3 ID : 6306801750759
Option 4 ID : 6306801750758
Status : Answered
Chosen Option : 3
Q4 Match the following in the context of taxonomy of educational objectives.
Educational objectives Domain
I | Knowledge 1 | Cognitive Domain
IT | Articulation 2 | Psychomotor Domain
III | Responding 3 | Affective Domain
Ans X 1. I-2, II-1 II1-3
2 I-1 1I-2, TII-3
<3 I-1,II-3, I1I-2
<4 I-2,11-3, TTI-1
Question ID : 630680448388
Option 1 ID : 6306801750747
Option 2 ID : 6306801750745
Option 3 ID : 6306801750746
Option 4 ID : 6306801750744
Status : Answered
Chosen Option : 2




Q.5 Which of the following statement is correct regarding the given statement?

‘Mathematics aims at abstraction”
I. Algebra, a branch of mathematics, deals with abstraction.

II. Abstraction is a means of encompassing wider range of application of mathematics.

X1 OnlyI

« 2 BothIandII
X3 OnlyIl

& 4. Neither I nor IT

Ans

Question ID : 630680448389
Option 1 ID : 6306801750748
Option 2 ID : 6306801750750
Option 3 ID : 6306801750749
Option 4 ID : 6306801750751
Status : Answered
Chosen Option : 2
Q6 In mathematics, what is correct regarding the nature of remedial activities?
I. More material intensive
I1. Based on the experience of the child
Ans X 1. Only I
X 2. Neither I nor IT
+ 3. BothIandII
X 4 Only I
Question ID : 630680448394
Option 1 ID : 6306801750768
Option 2 ID : 6306801750771
Option 3 ID : 6306801750770
Option 4 ID : 6306801750769
Status : Answered
Chosen Option : 4
Q.7  ‘The form of reasoning in which a general law or principle is derived from a study of particular objects or specific
processes.” The statement given above defines which method of teaching mathematics?
Ans 1. Inductive method
X 2. Synthetic method
X 3. Analytic method
X 4. Deductive method
Question ID : 630680448390
Option 1 ID : 6306801750752
Option 2 ID : 6306801750754
Option 3 ID : 6306801750753
Option 4 ID : 6306801750755
Status : Answered
Chosen Option : 4




Q.8

‘While constructing roads and bridges, concepts of mathematics like measurements, time are used.’ The statement given

above is an example of which aim of teaching mathematics?

Ans X 1. Cultural aim
+ 2. Social aim
X 3. Disciplinary aim
X 4. Moral aim
Question ID : 630680448387
Option 1 ID : 6306801750743
Option 2 ID : 6306801750740
Option 3 ID : 6306801750742
Option 4 ID : 6306801750741
Status : Answered
Chosen Option : 4
Q9 The constructivist approach in teaching science emphasizes:
Ans X 1. Standardized testing.
« 2. Active construction of knowledge by learners.
# 3. Rote memorization of scientific facts
X 4. Passive absorption of content.
Question ID : 630680448397
Option 1 ID : 6306801750781
Option 2 ID : 6306801750783
Option 3 ID : 6306801750782
Option 4 ID : 6306801750780
Status : Answered
Chosen Option : 2
Q10 god Aniaie 0si61d BaIB, IR 96° Aa ACIRIG CIFER 986 CAIBIRINg SIUIRE Gea?
Ans = =~ ~
X 1. degede Ut 94 9elael
2. EIg98Ia wee gl
X 3. gdliowld gdlvl
X 4 dioNgeR de9l
Question ID : 630680448400
Option 1 1D : 6306801750793
Option 2 ID : 6306801750795
Option 3 ID : 6306801750794
Option 4 ID : 6306801750792
Status : Answered
Chosen Option : 2




QM ¢Hled Fouisiia cFaIRe TaIEd AATIR FHGIQ JIRRE ATl TIN 609 PURRd AF0IQ AUYE 687

Ans

X 1. emdl getal |
X 2. g¢lgie SRR |

v 3 geda GRISE |

X 4. Rl 999 e g4 |

Question ID : 630680448402
Option 1 ID : 6306801750800
Option 2 ID : 6306801750803
Option 3 ID : 6306801750802
Option 4 ID : 6306801750801
Status : Answered
Chosen Option : 2
Q.12  The method that allows students to find out facts for themselves and train their minds in the process is:
Ans X 1. Direct method.
X 2. Rote learning method
« 3. Discovery method.
X 4. Observation method.
Question ID : 630680448396
Option 1 ID : 6306801750776
Option 2 ID : 6306801750779
Option 3 ID : 6306801750777
Option 4 ID : 6306801750778
Status : Answered
Chosen Option : 3
Q13 Formative assessment in science primarily focuses on:
Ans 1. Assessing students’ learning during the instruction process.
X 2. Conducting final exams.
X 3. Giving long homework assignments.
X 4. Grading students at the end of the term.
Question ID : 630680448398
Option 1 ID : 6306801750785
Option 2 ID : 6306801750786
Option 3 ID : 6306801750787
Option 4 ID : 6306801750784
Status : Answered

Chosen Option :

1




Q14 The integrated approach in science teaching:

Ans

X 1. Avoids experiments.
X 2. Focuses only on the theoretical aspects.

X 3. Separates subjects based on their content.
&4

Merges concepts from various disciplines to provide a holistic view.

Question ID : 630680448401
Option 1 ID : 6306801750798
Option 2 ID : 6306801750797
Option 3 ID : 6306801750796
Option 4 ID : 6306801750799
Status : Answered
Chosen Option : 4
Q15 The Nature of Science primarily focuses on:
Ans X 1. Simply memorizing facts.
« 2. Testing theories and making predictions.
X 3. Following a strict set of rules.
X 4. Collection of data.
Question ID : 630680448399
Option 1 ID : 6306801750791
Option 2 ID : 6306801750790
Option 3 ID : 6306801750789
Option 4 ID : 6306801750788
Status : Answered
Chosen Option : 4
Q.16 Which of the following is NOT an objective of teaching science at the upper primary stage?
Ans X 1. Foster curiosity about the natural world.
« 2. Memorization of facts without understanding.
X 3. Develop problem-solving skills.
X 4. Develop a scientific attitude.
Question ID : 630680448395
Option 1 1D : 6306801750775
Option 2 ID : 6306801750773
Option 3 ID : 6306801750774
Option 4 ID : 6306801750772
Status : Answered
Chosen Option : 2




Q17 1n science evaluation, what is the meaning of the acronym "OSCE"?
Ans X 1. Outcomes in Science Education

X 2. Observing Scientific Concepts Effectively
« 3. Objective Structured Clinical Examination

& 4. Overall Science Curriculum Evaluation

Question ID : 630680448409
Option 1 1D : 6306801750830
Option 2 ID : 6306801750829
Option 3 ID : 6306801750828
Option 4 ID : 6306801750831
Status : Not Answered
Chosen Option : --
Q.18 Why is fostering a sense of wonder and curiosity a crucial objective in science education?
Ans X 1. To limit students' imagination
X 2. To discourage asking questions
X 3. To make science boring
« 4. To encourage inquisitiveness and a love for learning
Question ID : 630680448403
Option 11D : 6306801750807
Option 2 ID : 6306801750804
Option 3 ID : 6306801750805
Option 4 ID : 6306801750806
Status : Answered
Chosen Option : 4
Q19 WWhat is the primary goal of the Integrated Approach in education?
Ans X 1. To emphasize the isolation of subjects
2
To promote holistic learning by connecting various subjects
X 3. To encourage rote memorization
X 4. To minimize student engagement
Question ID : 630680448408
Option 1 1D : 6306801750824
Option 2 ID : 6306801750827
Option 3 ID : 6306801750825
Option 4 ID : 6306801750826
Status : Answered
Chosen Option : 2




Q.20 What tool assesses students' ability to recall factual information and concepts in science?

Ans

« 1. Flashcards
X 2. Lab practicals

X 3. Science projects

X 4. Group discussions

Question ID : 630680448410
Option 1 ID : 6306801750832
Option 2 ID : 6306801750835
Option 3 ID : 6306801750833
Option 4 ID : 6306801750834
Status : Answered
Chosen Option : 4
Q21 What is the role of hands-on experiments in teaching the Nature of Science?
Ans X 1. To promote rote memorization
« 2. To engage students in practical exploration
X 3. To discourage practical learning
X 4. To focus solely on theoretical concepts
Question ID : 630680448404
Option 1 ID : 6306801750809
Option 2 ID : 6306801750810
Option 3 ID : 6306801750808
Option 4 ID : 6306801750811
Status : Answered
Chosen Option : 2
Q.22 What does the acronym "PBL" stand for in the context of a method or approach in science sducation?
Ans X 1. Perceptive Biology Lab
X 2. Precise Background Learning
X 3. Primary Data Collection
« 4. Problem-Based Learning
Question ID : 630680448406
Option 1 ID : 6306801750819
Option 2 ID : 6306801750816
Option 3 ID : 6306801750818
Option 4 ID : 6306801750817
Status : Answered
Chosen Option : 4




Q.23 What method allows scientists to test hypotheses and gather data under controlled conditions?

Ans

A 1. Observation
X 2. Discovery
« 3. Experimentation

X 4. Problem-solving

Question ID :
Option 11D :
Option 21D :

Option 3 ID

630680448405
6306801750814
6306801750812

: 6306801750813
Option 4 ID :
Status :

Chosen Option :

6306801750815
Answered
3

Q.24 What does the acronym "STEM" stand for in the Integrated Approach to education?

Ans

« 1. Science, Technology, Engineering, and Mathematics

X 2. Systematic Training in Educational Methods
X 3. Simple Teaching and Education Model
X 4. Structured Teaching for Effective Mentoring

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

630680448407
6306801750820

: 6306801750823
Option 31D :

6306801750821

: 6306801750822
Status :
Chosen Option :

Not Answered




